CRYPTOQUIP
ZSYJ] QETSJ LM Y WKEJYLXM

RYQM UCI JSM LCBH CU
ZIEJERTW YLCKJ ICYWIJMB

AYAYC WMMBW? ASCAC-XE]J.

Yesterday’s  Cryptoquip: COMEDY FILM
FEATURING TWO SIBLINGS WHO ARE CRAZY
ABOUT ADULT BEVERAGES: “THE BOOZE
BROTHERS.”

Today’s Cryptoquip Clue: T equals G

The Cryptoquip is a substitution cipher in which one letter stands for
another. If you think that X equals O, it will equal O throughout the puzzle.
Single letters, short words and words using an apostrophe give you clues

to locating vowels. Solution is by trial and error.
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